VALUE SHOPPER GENERATION 3 LISTED #440300 (EXPLODED VIEW)
APRIL 2012 — PRESENT

ENCLOSURE 11380 116877
10392.32

I ,/4075

9936 NS
\% 9766 ]
7361.22 POT \@ 6905 3798
\& 10399 mH g \ w‘k\msat&
R 11621

11152 A : .
. gy 103 12887 2Ry, 11818 AN (1648
11365~y ) 1 3622~ £
N 11618 ~ ‘ 11841

11480

1479 Y 41817VS3H-LST

6618.2 ) AT .

T || 5, 1284} ) /‘2433/5630
i | 1] _, 10151 11470 ] Q«fﬁm

ST _ 4630 N
: ‘ P 11618
01182 10847
3 114;;”\\ 8969
(076620 ' 10480.10 1963
S 7z~ , 4675 785210
7846 BASKET ASM 3622 = = s
: 1410 e

L=

S \

g - 11642
1005 8252 f

@ 115/ 10526 4269 11235

o @ 1192 10877.20

= 3822 ? 4053

75414 W 7541.20

Approvals

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, M| 48722-9725
Phone: (800) 248-9131 « Fax: {800} 334-7274 « www.myamigo.com

@

"B jves rproud



1192
1258
1264
1479
1963
2433
3622
3798
4075
4269
4953
5190
5196
5510
5630
6312
6618
6618.20
68186
6905
7281
7361.22
7541
7541.20
7657
7849
7852.10
8262
8675
8969
9157.10
9766
9768
9936
9937.23
10050
10151
10392.32
10394
10394.20
10399
10405
10423
10480.10
10516
10526

Descriptfion
Washer, Flat, 9/32 1D x 5/8 0D
Screw, Hex, 5/M6-18 x 3/4 Lg
Nut, Hex, Keps, #10-32
Screw, Phillips, #10-32 x 5/8 Lg
Loom, Wire
Screw, Phillips, #8-32 x 1 1/4 Lg
Nut, Hex, Nylon Insert, 1/4-20

-Screw, Phillips, #10-24 x 5/8 Lg

Screw, Flat Head Hex Sacket, 1/4-20x 2 Lg
Washer, Flat, 5/8 1D x 1 1/8 OD
Screw, Hex, 1/4-20x 2 1/2 Lg
Screw, Hex Socket, 1/4-28 x 3/8 Lg
Screw, Hex, #10-32x 1 1/2 Lg
Screw, Phillips, #8-32 x 1/2 Lg

Nut, Hex, Keps, #8-32

Screw, Carriage, 1/4-20 x 1 3/4 Lg
Bumper, Basket, Vertical

Bumper, Basket, Asm

Basket, Shopper

Nut, Hex, Keps, #8-32

Screw, Hex Socket, 1/4-20 x 7/8 Lg
Pot Asm, Hall Effect Commercial
Wheel, Stability, 1 5/8

Wheel Asm, Stability, 1 5/8

Screw, Hex Washer, Self Tap, #10-32 x 3/8 Lg

Basket Asm, Shopper (Complete}
Wire Asm, Charger To Controller
Nut, Hex, Nylon Insert, #10-32
Ground Wire Asm

Cable, MPC Handle Control
Switch, Seat

Wire Asm, Battery To QC

Wire Asm, Battery QC To Controller
Handle, Upper .

Column Asm , Standard, Black, Non-Tilt
Bearing Set

Foam Insert, Adhesive Backed
Enclosure Asm w/ Rocker Switch
Strap Basket Support

Strap Basket Support Asm

Boot, Battery Terminal, Red
Bracket, Power Cord Holder
Beot, Battery Terminal, Black
Screw, Hex, 1/4-20x6 1/2 Lg
Beot, Lower Handle

Lahel, Front Section

Qty/unit

=, A A N a2 N R R R N A A N e e e NN =S NN =S NN R R NN =N R RN - 0N

VALUE SHOPPER GENERATION 3 LISTED #440300 PARTS LIST — APRIIL 2012 — PRESENT

Part #
10534
10798.20
10800.40
10947
10977.20
10984
11045
11083
11083.10
11083.20
11122
11123.20
11125
11127
11128
11152
11155
11187
11158
11188
11235
11310
11312
11339
11340
11355
11358
11380
11410
11456
11487
11470
11480
11576
11677
11580
11613
11617VS3H-LST
11618
11618
11621
11641
11642
11648
2606002

Description
Clamp, Cable, 5/16 Nylon
Sign Asm, "For Our Valued Customers”

Sign Asm, Operation & Safety English/Spanish

Wire Asm, 18 Pin Controller Interface
Wheel Asm, 6" Rear

Cover Handle Wire

Pedestal Cover

Seat, Shopper, PVC Free

Seat Cover, Shopper, PVC Free
Seat Asm, Shopper, PVC Free
Platforr, Black

Drive Asm, Front Gear w/ Brake
Clip, Wire Guide

Mat, Standard

Plug, Round, 1" OD

Rod, Basket Bumper

Wheel Asm, Front Gear Drive

Mofor, Front Gear Drive

Brake Asm, Front Gear Drive

Strap, 7 Amp Charger

Wire Harness Asm, Front Gear Drive
Key, Axle

Washer, Lock, 5/16 ID x 19/32 CD
Washer, Flat, 17/32 ID x 1 1/16 OD
Nut, Hex, Lock, 1/2-20

Screw, Phillips, #6x 1 1/2 Lg

Screw, Hex Washer, Self Tap, #8-32 x 3/8 Lg
Housing, Enclosure (w/o 7361.22)
Axle, Short

Label, Pedestal, Light Blue

Plate, Back, Standard, Non Tilt

Wire Asm, Safety Monitor To Cntrl Listed
Power Cord, AC Retractable

Label, Electrical Ratings, Listed
Label, AC Cord, Warning, Listed
Screw, Hex, 1/4-20 x4 1/4 Lg

Circuit Breaker, Manual Reset, 16 Amp, Listed
Controller Value Shopper Listed
Safety Monitor, Listed

Charger, 7 Amp, Listed

Strap, AC Receptacle

AC Receptacle, Listed

Ferrite Bead, Listed

Screw, Hex Washer, #6-32 x 1/2 Lg
Battery, 12 Volt, 33 AH (U-1)

Qty/unit

P T T . J N G A X T T e T - e N O S T X B e T T L T

Approvals CTE

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 « Fax: (800) 334-7274 + www.myamigo.com



VALUE SHOPPER GENERATION 3 LISTED #440300 (WIRING DIAGRAM)
MARCH 2012 - PRESENT

HOUR METER
SEATFSIITCLING:) 11051 ENCLOSURE
10392.32
11240.10 11241.10 BATTERY
12v
BLACK

CIRCUIT
BREAKER
11613

11642 9768—/

BATTERY
12v

CHARGER
11619

7852.10
MOTOR

CONTROLLER
11617VS3H-LST

Approvals C',fgﬁ

a: AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway - Bridgeport, Ml 48722-9725
2, WV & Phone: (800) 248-9131 « Fax: (800) 334-7274 + www.myamigo.com

" lies throva




	0131300 - 0132400 (Listed)
	Value Shopper Gen 3 Listed Wiring Diagram March 1, 2012 - March 2013 (Approved)

